勞動經濟學
(Borjas: Chs. 1-5)
期中考
(89/11/15)
● Open book:任何資料均可參考，就是不能參考其他人的答案。

●  題目有兩頁,正反兩面。







班級:

●  請注意時間限制。(2:10pm-4:10pm)




姓名:

●  總分: 105分。









學號:

· 題目卷請連同答案卷一起交回。
I.
True (T) or False (F):
是非題, 不必說明。(計25題,每題3分。)


答案請直接寫在題號前面。答案若是,請寫上T;若非,請寫F。
1. When the non-labor income increases, the demand for both consumption and leisure will increase.

2. Labor demand is more elastic the greater the elasticity of substitution.

3. Positive economics addresses “what it is?” questions.

4. The labor supply curve must be positively sloped.

5. If the wage decreases, and the substitution effect dominates the income effect, working hours will increase.

6. If the wage increases, due to both substitution effect and income effect, labor participation will increase. 

7. When consumption is plotted on the vertical axis and hours of work are plotted on the horizontal axis, the slope of indifference curve is negatively sloped.

8. A take-it-or-leave-it cash grant of a welfare program can induce many workers to drop out of the labor force.

9. If the cross-elasticity of factor demand is negative, the two inputs are said to be substitutes.

10. If the elasticity of substitution is negative, the two inputs are said to be substitutes.

11. When children are considered as an expensive commodity but a normal good, an increase in income will decrease the number of children for a family. 

12. The long-run demand curve for labor is more elastic than the short-run demand curve.

13. When the wage is increased by 1%, and the hours of work is increased by 0.1%, the supply of labor is inelastic. 

14. The long-run profit-maximizing conditions must imply cost minimization.  

15. If Jack earns more than Joe per hour, Jack must work more hours than Joe.

16. When MP (marginal product) is greater than the relevant wage, the competitive firm will increase his hiring of workers.

17. Suppose capital and skilled workers are complements in production. If the government implements an investment tax credit, the wage for skilled will increase.
18. When the wage decreases, the firm will increase its employment of workers because of both the substitution effect and the scale effect.

19. The demand curve for labor of a monopoly is VMP (value of marginal product).

20. The demand curve for labor of a monopsony is VMP (value of marginal product).

21. The supply curve of labor for a monopoly is horizontal.

22. The supply curve of labor for a monopsony is horizontal.

23. Workers are better off when the payroll tax is assessed on firm, rather than on the worker.

24. When there is a strong negative relationship between the rate of wage growth and the initial wage level, there is a strong tendency toward convergence of regional wage levels.

25. The imposition of minimum wage will create unemployment no matter what the labor market structure is.

II. 申論題(Essay Questions)：請由4題中選2題作答。

請註明題號.,答案請寫在答案卷上。 (每題15分, 多選答不計分。)

1. The supply-side economists propose that the Laffer curve has a downward sloping part. Please draw a figure and explain why.

2. 假設對十幾歲的年輕打工者而言,速食店是他們勞動的專買者(Monopsony)。又現在政府制定一最低工資法,規定的最低工資，高於原專買者所設定的利潤極大的工資。請由做圖、解釋並由經濟學分析此最低工資法實施後,對年輕打工者工資以及就業的影響。 
3. 請由Cobweb model說明有些行業(如工程師)即使需求增加,起薪卻表現著起伏上下的波動。請說明假設、做圖並詳細說明工資、就業調整過程。

4. 請利用你學過的(勞動)經濟學,分析”最近中老年齡層勞工失業率遽增”，與以下各問題之間的相關性。若可能的話，提出可能的解決之道：

(1) 結構性失業

(2) 失業救濟金發放

(3) 政府財政赤字

(4) 廠商外移至大陸,及設限

(5) 產業升級

作答時請著重於實證經濟分析，以及依邏輯來分析探討(評分標準)。請避免規範性或主觀的論斷。
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